B B R ER S F
2011~2012 22 EF —EHHRE R RE

A &
RFEL K R C () WAEARIE: _ MATH120005
FFERBE R HE Rl b ZRAER: HE
W 4 ¥ 5 Lk BRI IR
s — - = Py i N + J\ 5%
Gy

—. Bz (3'x5)

1. iﬁs")'("%f(x)a@—/rm[iﬂz, % [ xf'(x)dx=
2

6+ f(x)

2

sin 6x + xf(x) _ 0. Jlim
x—0 X

-1

. (A

w
>
I

O O O O B+
o O O N O
o w NN O O
O NN B O O
w O O o o

X

o o Ol

o Wwlr o
o o
o o
o o

O NIk Wk
O Wik Ok

N |~



4. lIimy2" +3" = o

N—o0

B3

V3
~ X —CO0S X

. jzﬂ—_ >—ax =
—51+S|n X

i

\ /4
K ——
2

L HEE (3'x5)
1. lim f(x)=o00 /& f(X)7E X, EAOARA LN O Ffk.

X—>Xg
. 3!6/\

A g)
#ze. A

[=}

B. %% C. mo#E D. LXK

>

o tim ) g yim SN2X _
x>0 X x—>0f(3x)
3 2 4
AYoeY oc koo

wz: C

X, +X,+%X, =0
3. WA NFIREGNMETTFRA X, +1X, + X, = ORI REGHFE, HH=MuFEB=0, HAB=0, I ¢ ).
X;+X, +1X; =0

A t=-2HB=0 B. t=-2H[B|#0 c t=1H|B=0 D. t=1H[B=0

Bx: C

4. FHIFR ] HE ] Newton-Leibniz AR GHERHZ ¢ ).

A. .[06 X’ dx B. Il X —dx  C. Lﬁﬁdx D. Ede

1+x? 1 1-x > xIn x

5. Vx, 1 f(=x)=—f(x), Hf'(=x,)=-k=0, mf'(x)= ¢ O



A.% B.—% C. -k D k

ez, C

= (6" x8)

[t e e

1. lim = —
x>0 x?sin x

. 1
B =
3

'[ cos® X —sin X
cos x(L+ cos xe™™ )

COS X
1+e™* cos x

B |

+C

3.y = f(x)drExy? +sin x* = y-3"#isE, skdy.

3*yIn3—-y* —3x*cos x°

B dx
- 2xy — 3"
4. y=arctan(3ex), 3k dy o
dsin x
3e*
s e
7 (1+9e%) cos X
1,x<0
5. 8 f(x)=1x+10<x<1, k[ f(x)dx.
2X,Xx>1
x+C x<0

B If(x)dx=<%x2+x+c 0<x<l1

x2+%+C x>1

\



0 V1+2X
%%:%—%
w0 dX
vy
a b c d
8 A -b a d c 2?|A|
l-¢c d a -bl| ’
-d -¢c b a

%% (@®+b*+c% +d?)?

VY. GEBHAE (5'x2)
1o F(x) e 0] A miss s, B EQ)-f(0)=1. e [[F(x)Pdx=1.

W e [F(X) =1 >0, B [F(X)F=2f"(x)-1

I O0Fax 2 [ 200 - dx = 2[ F(1) - F(0)]-1=1, Wik

2. # f'(x)7[ab] ke, Hf'(a)< f'(b), ruf'(a). f'(b)Zlmmrm A, Wz (a,b)pfz
i E, 3 f1(E)=r.
EH: % F(X)=f(X)=rx, mcsn F(X)7E[a b] EfAm/ME, &k F(£),
F'(x)= f(x , = f'@<r<f'(b), ~F'(a<0, F'(b)>0.
X F(x)=F(a)+F'(a)(x—a)+o(x—-a)
Y xe(a,a+e)ht, MAn/MMIEH ¢, F(E)<F(X)<F(a), ~.&=a;
FETIE: E#b, ~.Ee(ab).

W OF(X)AEE WS, HLF(E) N ff, i Fermat @8, F'(&)=0, HNE.



Tiv G (12)

2 2

1. ﬁﬁP&%ﬂ§§+%:1£<@ F. F, W SRS, k| PR|-|PF,| ik, (5)

% Z . =25

max

i

kKX, +X, +X; =5
2. BLA3X +2X, +kxg =185k, [ K UI{EL, Ty REALICHE, ATMEfE, AT AEATICIIRIN, SR
X, +2X; =2

AR, (77)
B 1) Ke3 k=L, A i
2) 4 k=31, Tt
1 3
3) M k=18, HEFLAM, LMl x=a|-2|+|2| 1eR.
1 0



